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Question Number two: 

1- Getting off the bus one stop earlier than usual; standing up when you’re on the 

phone. 

2- Cope with. 

3- No, they don’t: ‘However, recent research shows that less than 50% of the 

British population manages this.’ 

4- 1- The growing popularity of fast food; 2- Another big factor is lack of exercise 

5- heath experts. 

6- Open Answers. 

7- Open Answers. 

B- Literature Spot : 

1. It’s a big fish    2. Strength  

Question Number two: 

A. 1- legacy     2- side effects     3- attend      4- major 

B. The green light 

C. 1- attractive    2- artificially 

Question Number Three: 

A. 1- been talking     2- will have lived    3- recycles 

B. 1. It is Taha Hussein who is especially famous………. 

    2. Enough money has been saved to fund our university courses by them. 

   3. The students said that they would prepare a presentation about     

the usage of solar power in the area.  

Question Number Four: 

A. used to      /   X  

B. a- Have you seen …….?   / catalogue 

     b- have got  / flat .  

C. Expressing continuation or addition. 


